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Abstract

This study is about a game called ” Mora Evolution”. With different numbers of people
and levels, how many actions it will take is what we focus on. In the game, every two people
in each level play Mora. The winning one evolves to the next level. There are two ways for
the losing one, stay in the same level (no degenerating case) or degenerate to the previous
level (degenerating case). Thus, we investigate separately.

First we use Recursive Series to describe the process of the game. When the numbers
of people in a level are odd, one person doesn’t play Mora. No matter the numbers of
people in a level are odd or even, we use ceiling function and floor function to describe the
situations. Then we make another series that ceiling function and floor function is removed.
By comparing the two series, we can roughly calculate the number of actions the game
takes.

The conclusion now is that in the three levels and no degenerating case, we can re-
strict the number of actions to one or two values. When the level is more or considering
degenerating case, we can only find the number of actions lie in a certain range.
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B E(s+1,k—2)+ L (G=2)(kE=3)(k=s) (k-1)(k-2)-(k-s+1)
- 22 (s-1)! 2k 2k

12
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h(s+1,0) L1 ((s— D(s=2)~1 s(s=1)2  (k=2)(k-3)(k-s)

- ok (s—1)! ok ok ok
(k= 1)(k = 2)e(k = 5 + 1))
2k XN
o (s=1)(s-2) 1+ 4 (k=2)(k=3)(k-s)+(k-1)(k-2)(k-5+1)
- 2% (s—1)! o
s[(s=1)(s=2)+ 14+ (k=2)(k=3)(k—5)+ (k=1)(k-2)(k-s+1)]

= xn
2k x sl

43 (1) = s[(s=1)(s-2) 1+ +(k=2)(k=3)(k—s)+ (k—1)(k=2)(k—s+1)]
®(2) = k(k-1)(k—-2)(k-s+1)

Bt (2) - 3t (1)
= k(k-1)(k-2)(k-s+1)—s[(s=1)(s-2)-L 4+ (k-2)(k=3)(k-s)+
(k-1)(k=2)-(k-s+1)]

K (k-2 (k-1)!
- (k—s)!_5[(8_1)!+"'+(k—s—1)!+(k—s)!]

e 52

_ (k(]:i)l!)!_S:(s—l)!+...+(k(/:%)1!)!:

- (k_l)(k(lj;%)l!)!_S(k(lj;f)l!)!_s[(s—l)!+,,,+(k(l:f)2!)!]
- (k(l:i!)!_s:(s—l)!+...+(k(/:§)2!)!:

= sl-s(s-1)!=0

(1) = 20 (2) - HBERMIEAGEE -

B B AL k) B h(l k) ZRRDZEE

EH 13, ) .
Fop<hlLk)y-h(lk) <q Rl p-1<h(l+1,k)-h(l+1,k) <q °HF>
l#1, l#r—1° p,q BIEEEH -

.
A B R AT -

1. B k=08 h(1,0)-h(1,0) =0=h(l+1,0)-h(1+1,0), p<0<q > Al p-1<0<qg-1
BESRAAL

2. H k=t B o B

p<h(lt)—h(l,t)<q, p-1<h(l+1,t)=h(l+1,t)<q+1

13



3. BIE k=t+1H>

2 2 2 2

B(e1051) - h(ls1ts1) = [h(l+1,t)] Ch(l+1,t) +lh(l,t)J_ h(l,t)

A1+ 1,t) 1 h(1,t) BB BT TR T4
(1) & h(l+1,t) ®EE - hl,t) HIEE A

h(l+1,t+1)—h(l+1,t+1) =

h(l+1,t) = h(l+1,t) + h(l,t) - h(l,1)

2
TA=| 1 > 1
G5 P-3 <h(I+1,t+1)-h(l+1,t+1) A
(2) & h(l+1,t) BEH - h(l,t) HETE R

h(l+1,t+1)—h(l+1,t+1) =

h(l+1,8) = h(l+1,8) +h(l,t) = h(l,t) -1

2

WEE p-1<h(i+1,t+1)-h(l+1,t+1)<q
(3) & h(l+1,t) A n(l,t) RiE% - Al

h(l+1,8) = h(l+1,t) + 1+ h(l,t) - h(l,t)

h(l+1,t+1)—h(l+1,t+1) = 5

WEE p<h(l+1,t+1)—h(l+1,t+1) <q+1
(4) & h(l+1,t) HEFE - h(l,t) HETEC A

h(l+1,8) = h(l+1,t) + 1+ h(l,t) - h(l,t) -1

h(l+1,t+1)—h(l+1,t+1) = 5

A 1 * ]-
Tjﬁ,ﬁaﬁl{%“p—i<h(l+1,t+1)—h(l+1,t+1)<q+§

A (1) ~@) » B p-1<h(+1,t+1)-h(l+1,t+1) <q+1 > HEERFANES

o
As

O

O

EH 14. A
~l+1<h(l,k)-h(l,k)y <l » HF 121, 17 o
. R .
HEM 40 -1<h(2,k)-h(2,k) <2 > HEM 13> -2<h(3,k) - h(3,k) <3, -3<
h(4,k) = h(4,k) <4, - =l+1<h(l,k)-h(l,k) <l *» 155 -
EH 15. . .
4 fnyr=1)=z, h(r-1,2) = — x ———xa(z-1)(z-2)(z-r+3)xn=y °
2 (r-2)!

(1) #& [y]—1<y<[y]—% s ]l f(n,r) =[logy([y] +i)], 2-r<i<r-2, ieZ

(2) # [y]—%<y<[y] B f(n,7) = [logy([y] + )], B-r<i<r—-2, ieZ

14



.
B RE B 7 AHRIAY 7714 -

k=x > h(r-2,2)=1 T h(r-2,2-1)>1 ’1E[W]:h(r—2,x):l ’
HCh(r-2,2-1) » WAFNFR
k 0 x -1 x o f(ner)
h(T’,k) 0 h(r,x—l) h(T,I) h(r,f(n,r))
h(r-1,k) 0 h(r-1,z—-1) h(r-1,z) 1
h(r-2,k) 0 2 1 1
0

h(r -3,k) 1 1 1

B h(r-2,k) =1 K> T%?%E’J%Mﬁﬂ?ﬁﬂﬂfﬁﬁ  HHEHE 1 WER - 15
f(n,7) = +[logy h(r—1,2)] * WA h(r-1,2) F h(r-1,2) BIZEFEREE] f(n,r) B
g IR ERE

h(r-1,2)-h(r-1,z) = ([h(T_léx_ 1)] + [h(r—22,x— 1)J)_(h(r— 12’33_1) ¥ h(r—22,x— 1))

WA h(r-2,0-1)=2 > HFFHEHE 14 » 5 —r+4<h(r-2,2-1)<r-1 » K
h(r-1,z - 1) & EVEDBE R -

(1) # h(r-1,2-1) BE# - H)

h(r-1,2-1)=h(r-1,2-1) +1_iL(7‘—2,l‘—1)

1) =h(r-1.2)=
A(r=1,0) ~h(r ~1,2) . :

HEH 14 - 15 —r+g<h(r—1,x)—iz(r—1,x)<r—g

(2) & h(r-1,2-1) B7E - H

h(r-1,z-1)+1-h(r-1,2-1) +1_i}(r—2,z—1)
2 2

HER 14 » 15 —r+3<h(r-1,2)-h(r-1,2) <r-1

h(r—l,x)—ﬁ(r—l,x) =

A (1)~ (2) 1%_r+g<h(r—1,x)—h(r—1,x)<r—1 :
Eﬁ(E(T—l,x)—r+g<h(r—1,x)<ﬁ(r—1,m)+r—1 ’

A EH 12 ’/v‘r\ﬁ(r—l,x):2%xﬁxx(x—l)(x—Z)--~(x—r+3)xn:y ’
E'Jy—r+g<h(r—1,m)<y+r—1 » X h(r-1,z) RHEE
?E?[y}-l<y<[y1—%ﬂﬁ’

h(r-1,2) =[y] - (r-2) 5 [y] - (r-3) B 5 [y]+ (r-3) 8 [y]+(r-2)

Hig

1 .
[y1—§<y<m i o

h(r-1,2) =[y] - (r-3) 8% - 5 [y] + (r - 3) 5L [y]+ (r-2)
TR (n,1) = o + [logy h(r - 1)) BV -

15



B > EHEEAAEL f(n,3) MFE > f(n,r) BRI
EH 16.

f(ny,r) > f(na,7), Vg >ng, ny,na €N ©

A .
B hpey (LK) 2 ha(LE), Y1<l<r, leN, ke Nu{0} - FIFHEEERHNE :

L EEk=0F"> h,1(1,0)=n+1>n="h,(1,0), hy1(2,0) =0="h,(2,0),...,
hps1(r=1,0) =0 = hy,(r—1,0) BLIL ©

2. & k=t R EROL 0 B b1 (1,8) 2 hy(1,t) ©

3.8 k=t+1K>

Pos1 (1,6 +1) "“(1 t) } [h” {, t)] ho(1,t+1),

hn+1(2,t+1) "+1(2 t ] l n+1(1 t)J

L [ ,t)}Jr{hn(Lt)J:hn(2at+1)7""
) 2
h(r— 1.t +1) = hn+1(g— 1,t)] " lhvz+1(g_ 2’t)J
N —hn(T;Lt)]+lh”(r2_2’t)J=hn(r—1,t+1)

FIIE k=t +1 BFFa@IRRAL > FTEL hypa (0, k) >hn(Lk), V1<l<r, leN >
FHIVAE R * B hne1 (1, k), Bna1(2,k), -, hper(r—1,k) B—RE 1 B »

hn(1,k), hn(2,k), -, hn(r-1,k) BEEZ 1T > X f(n,r) BEE

ho(1,k) = hy(2,k) = = ho(r = 1,k) = 1 (UF/NEEEE k8 f(n,3) 2 f(n+1,3) »

It > f(n1,3) > f(n1—1,3) 2> f(n2 +1,3) > f(n2,3) » 19785 ° O
EH 17,
9(n,2) =[logyn|
FEEA.
h(2,k) = h(2,k-1) + lh(“;_l)J
h(1,k) = [h(l,l;—l)]
(keN,h(2,0)=0,h(1,0) =n) °
HARPLELE 2R 1 #H[F] » 5L g(n,2) = [logyn] © O

16



2.6 TR g(n,3) B—&X

g(n,3) FERHEREHE 25 ~ EH 26 ~ EH 28 °
B R R R EE S T

h(3,k):h(3,k_1)+[h(2,l;:—1)J
i ) o
h(1,k) = [h(1,/;—1)]+lh(2,/;_1)J

(k €N, h(3,0) = h(2,0) = 0,h(1,0) =n) °
P A A B RR A ) — A AU RAEARAFT SR ~ uARAT 9% KPR IAEST LK - B R ES
h(3,k) ~ h(2,k) ~ h(1,k) :

h(2,k-1)

h(3,k) = h(3,k-1) + .

B2, k) = ;‘(1’;‘1)

h(2,k-1) . h(1,k-1)

h(1,k) =
(LK) 5 5

(k eN,h(3,0) = h(2,0) =0,h(1,0) =n) °
A E B EATEIR BRI R h(1,k) <1 H h(2,k) <1 BB/NEBE k- 3L
g(n,3) Fx o JP

3(n,3) = min{k|h(1,k) <1, h(2,k) <1, keN}

SeHEH h(1, k) ~ h(2,k) ~ h(3,k) BI—R

EH 18. -

h(1,k) = ;;1 xn * B FL,=Fa+F, Fp=0, =1 °
0.

I F 22 B0

. F
1. & k=0 h(l,O):n:?;xn s H k=1FF

h(1,0) . h2,1) n F
2 2 2 2!

h(1,1) =

Ft+1
2

Ft+2
2t+1

2. F k=t k=t+1 R - B h(1,t) = xn, hl,t+1)=
3. H k=t+2 8

. h(1,t+1) N h(2,t+1)  Fpo _ h(1,t)

MLt+2) = 2 2 g2 Ty
_ Ft+2 Ft+1 _ Ft+3
- ot+2 + ot+2 xn= ot+2 xn
BB AN EGES - O

17



EH 19.

- F
W2, k)= S5 xn o B Fig = Fa v iy Fo=0, Fr=1 -

.

h(1,k=-1) 5 Fy

FIFEHE 18 » 13 h(2,k) = 5 5 o

EF 20.

oLl

- F
h(37k):(1_ S;Z)Xn » HAF Flo=Fa+F, Fo=0, Fi=1 -

FIFEH 18 MEH 19 15

h(3,k):n—h(Q,k)—h(l,k):(l_?:_ ;1)“:(1_ k2)xn

B B TR LU TR A h(2,k) B h(2,k) ~ h(1,k) B h(1,k) ZRIROZEEE

EH 21. A )
-2<h(2,k)-h(2,k) <3, -3<h(1,k)-h(1,k)<4 °
.
M BB BT ANIE -
1 B k=08 h(2,0)-h(2,00=0-0, h(1,0) -h(1,0) =n-n=0 » &K

2.
3.

k=t BEEATERSL 0 B -2 < h(2,) - h(2,t) <3, =3 <h(1,t)—h(1,t)<4 »

Hhk=t+1F>

h2,t+1)-h(2,t+1) = (h(27t)_th(z,t)J)Jrlh(lQ,t)J_iz(12,t)

h(2,t) | h(2,t) h(1,t)]  h(1,t)
> |" 2 )T\ | 2

BT FIRBRMBER K h(2,t) 71 h(1,t) BB EMES RIS

(1) & h(2,t) HEH > h(l,t) HaEe

h(1,t+1)=h(1,t+1)

h(1,t) —h(1,t) +1
2
h(2,t) = h(2,t) + h(1,t) - h(1,t)
2

h(2,t+1)=h(2,t+1) =

h(1,t+1)=h(1,t+1) =

5 —1<h(2,t+1)—ﬁ(2,t+1)<g, —g<h(1,t+1)—fz(1,t+1)<g
(2) # h(2,t) HEE h(1,t) HIEEC

h(1,t) —h(1,t)+2
2
h(2,t) = h(2,t) + h(1,t) - h(1,t) -1
2

h(2,t+1) = h(2,t+1) =

h(1,t+1)=h(1,t+1) =

4 1 2 *
15 —§<h(2,t+1)—h(2,t+1)<3, -3<h(1,t+1)-h(1,t+1)<3

18



(3) & h(2,t) HIEE - h(l,t) FHarEe

h(1,t)—h(1,t) -1
2
h(2,t) = h(2,t) + h(1,t) - h(1,t) + 1

h(2,t+1) = h(2,t+1) =

R(1,t+1)—h(1,t+1) =

2

B -2<h(2,t+1)-h(2,t+1) < g —2<h(1,t+1)-h(1,t+1) <4
(4) # h(2,t) BB h(1,t) HIHE

h(1,t) - h(1,t)
2
h(2,t) = h(2,t) + h(1,t) - h(1,t)
2

h(2,t+1)-h(2,t+1) =

h(1,t+1)—h(1,t+1) =

5 —g<h(2,t+1)—ﬁ(27t+1)<2, —g<h(1,t+1)—ﬁ(1,t+1)<g

BB
EH 22.
#oh(2,k) =2, h(Lk)=y » HF keN » Al n(2,k-1), h(1,k-1) ZEZEFIUME
FIREIETY
h(2,k-1) = 2y—-2x+3 = h(2,k-1) = 2y-2z+1
h(l,k-1) = 22-2 - h(l,k-1) = 2z-1
. h(2,k-1) = 2y-2z & h(2,k-1) = 2y—-2x-2
= {h(l,k—l) = 2 = {h(l,k—l) = 2r+1
.
HEZ
h(2,k):h(2,k—1)—2lh(2’§_1)J+lh(1’§_1)J
h(l’k):[h(l,k—l)]+lh(2,k—1)J
2 2

W h(2,k-1)=2y-2x+a, h(1,k-1)=2z+b > HHa,bez » HA LG

2y -2 2
|x2y2x+a2l Y ﬂE+CLJ+[ I+bJ

2 2
[2x+b] {2y—2x+aJ
Y= 5 +

RALEEEES



Xa—2EJ:OEZI ,aﬁz[gJ:oaz-l CEI b= 23 -1 0 m 1

AN (1) +(2) x2 15 a+ [;J +2[§} —0 0 4% b AUTIE LB » B o {4 -
. (a,b) = (-3,-2) 8% (1,-1) 8% (0,0) 8% (-2,1) » BI1545H o O

EH 22 A8 (2, k- 1), h(1,k-1) EL L AMEAREN » (B8 &G T iEE
BltnE n(2,k) = h(1,k) = 2 B > REESWIRIER » h(2,k-1)20, h(1,k-1)>0 * FTLL
HAW h(2,k-1) = -2, h(1,k-1) =5 BEAAHE

EH 23.
(1) h(1,k)>1,YkeN
(2) h(1,k) 2 h(2,k) - 1,Vk e N » BOREREHZ - BRT h(1,k) =1, h(2,k) = 2 BEIFE
Ao h(1,k) > h(2,k) °
(3) h(2,k) >0,V e N » BEFEREM » BRT h(1,k) = 2, h(2,k) = 0 BEREIFLI
h(2,k)>1 °
(4) 2h(2,k) -h(1,k) 2 -2, VeN
A
HARMKRREANES - NBURBERAE > #h(1,k) 20, h(2,k)20 °

(1) h(1,k) = h(l”;_l)%lh@’g_l) C B h(L,k)=0 > A[1F h(1,k-1)=0 > EH

I AER > 15 h(1,0)=0 > FJ&E | FTLL h(1,k) 21, VkeN o
(2) HRIEESR

h(2,k):h(2,k—1)—2lh(2’§‘1)J+lh(l,l;—1)J

h(1,k-1)] |h(2.E-1)
e

h(1,k) = [
Bl

h(1,k)-h(2,k) +1 = ([h(lak_l)“_{h(l,k—l)J)+{h(2,k—l)J
) y 5 5 5
+(2[h(2’§_1)J_h(2,k—1)+1)20 (Vk e N)

M h(Lk)—h(2,k)+1=0 » BFE h(2,k-1)=1 H h(1,k-1) BEBHOER T 45
ARE s B h(Lk-1)=2t, teN - IRIEEFEH 22 > 15

h(2,k-2) _[4t+1 o [4t-1 o [4t-2 . [ 4t-4
{h(l,k—Q)_{O jz{1 jz{2 jz{3

H (1) > (k)21 > BARZR =T  BEEART r(2,k-1)=1 H h(1,k-1)

BEEEREERI - BH h(1L, k) > h(2,k) » LRt =1 Fl ¢ = 1 @175 -

(a) Ht+1 Bl ¢t>2 » QE=MAGEEAH n(2,k-2) > h(1,k-2) » FIRERE
22 K h(2,k-3)=1H h(1,k-3) RAE# - 5

(h(1,k-2),h(2,k - 2)) (4t—-1,1) (4 -2,2) (4t - 4,3)
(h(1,k-3),h(2,k-3)) (2,1) (4,1) (6,1)

MERERHZ ¢ EEEFERRTE -

20



(b) ZHt=1  HIELHERREEE -
K> BT h(2,k) =2 H h(1,k) =1 BB 0 h(1,k)>h(2,k) °

(3) & h(2,k)=0, h(1,k)=a, aeN » FIFEH 22 »
h(2,k-1) _| 2a+3 a+l o [ 20 o [ 2a-2
{h(l,k—l) ‘{—2 jz{—1 jz{o jz{l

B (1) » h(2,k-1)=2a-2, h(1,k-1) =1 ZM—RGE > FFIH (2) » 1>2a-3
' fla=1,2 »HFE a=1 > B h(2,k) =0, h(1,k) =1 » FERIHEE

h(2,k-1)=0, h(1,k—-1) =1 » EEIIER » FIRIGABAETE !

Wa=2 > MK -

(4) MIBEEE
h(2,k):h(z,k—1)—2lh(2’§_1)J+lh(1’§_1)J
h(lvk):[h(l,kz—l)'+lh(2,k—1)J
2 2
)i
Oh(2,k)~h(Lk) = 2h(2k-1)-5 h(2’§_1)J+2lh(1”;‘1)J_[h(l”;‘l)
= 2n(2,k-1)-5 h(Q’g_l)JmV(l’g_l)J—h(1,k—1)
> 2h(2,k-1)-5xh(z”;‘l)+3(h(1’k;1)‘1)-h(1,k-1)
_ h(Lk-1)-h(2,k-1)-3
2
BRA (2) 89 2n(2,k) -h(1,k) > -2, VkeN o
O

BRI FIRT T SR A IATE » BV ESER 5 WIIEBR n 5 » ZREREN 7
UATE) » BB h(1, k), h(2,k) RBUEREER > FEAREREE R 24 515

EH 24.
B on>5 B h,(l,k) ZEEMW—EERN (WTFERR) » Hif

B

1=1,2, g(n,3)-6<k<g(n,3), keN o

k g(nag)_6 g(n73)_5 g(na3)_4 g(n73)_3 g(nas)_z g(n,3)—1 g(nvg)
(2, k) 2 1 2 1 2 0 1
(1, k) 3 3 2 2 1 2 1

el

RS 0 A(2,0(n.3)) = h(1,g(n,3)) = 1 » FIFSER 22 FERTHE (2 k- 1)
h(1,k-1) 214 :

h(2,9(n,3) - 1) 1 3 -2 0
h(Lg(m3) -1 | 1 | 0 3 2

21



OB 23 & g(n,3) FIESE » 15 h(2,9(n,3)-1) =0, h(l,g(n,3)-1)=2 »

h2,9(n,3)-2) | 5 7 2 1
h(1,9(n,3)-2) | -1 | 2 | 1 0

OB 23 (1) * 13 h(2,9(n,3)-2) =2, h(l,9(n,3)-2)=1 °

h2,9(n,3)-3) | 1 | 1 | 4 | =2
h(1,g9(n,3)-3) 3 2 5 4

I%E:yzg h(zag(na?)) - 3) =1, h(lag(n73) _3) =2

h2gm3) -4 3 1 5 [ 0 | 2
h(1,9(n,3) —4) 1 0 3 2

B OEH 23 0 15 h(2,9(n,3)-4)=2, h(1,9(n,3)-4)=2 °

h(2,g(n,3) - 5) 1 3 -2 0
h(1,9(n,3)-5) 3 2 5 4

HOEH 23 » 13 h(2,9(n,3)-5)=1, h(1,9(n,3)-5)=3 °

h(2,9(n,3) -6) 5 7 2 4
h(1,g(n,3) -6) 1 0 3 2

B EH 23 0 15 h(2,9(n,3)-6) =2, h(1,9(n,3)-6)=3 ° -
B 1(2,9(n,3) = 6) =2, h(1,g(n,3) - 6) = 3 FERTHE

[\V]

h(2,9(n,3)-7) | 3 5 0
h(1,9(n,3)-=17) 3 2 5 4

H OEH 23 13 (h(2,9(n,3) = 7),h(1,9(n,3) —6)) = (3,3) Bk (2,4) * MEFELIEM
TEIETE BH A6 -
2.6.1 g(n,3) B ETFHRMEF-TTH 1

EH 25.
i(n,3)-8<g(n,3)<g(n,3)+8 FH n>12 °

FHA.

R4 g(n,3) FIEFE > 0 < h(1,9(n,3) <1, 0h(2,9(n,3)) <1 » FLAEH 21 » 15
=3 < h(1,9(n,3)) <5, -2 <h(2,§(n,3)) <1 Kk > h(1,9(n,3)) =13 23 T4 H
h(2,G(n,3)) =0 8% 1 8 2 5% 3 B FARGETAmiE 404 -

(1) (n(1,9(n,3)),h(2,9(n,3))) = (1,0),(3,0),(4,0),(1,3),(2,3) Ff > HEE 23 A A]
fig !
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(2> (h(lag(na?’))vh(2>g(n73))) = (4’ 1) R - (h(l,g(n,?)) + 1)’h(27g(n73) + 1)) = (273)
FIEH 23 TG !

(3) (h(1,9(n,3)),h(2,9(n,3))) = (1,1),(1,2).(2,0).(2,1),(2,2),(3,1), (3,2) I » H*E
B 245 g(n,3)<g(n,3)+6°

(4) (h(1,9(n,3)),h(2,§(n,3))) = (3,3), (4,2) B > (h(1,9(n,3) +1),h(2,4(n,3) +1)) =
(3,2) HREH 24 51 g(n,3) <g(n,3) +7 ©

(5) (h(lag(n73))7h(27g(n73))) = (433) i (h(lag(n73) + ]‘)ﬂh’(2?g(n73) + 1)) = (333)
FHREH 24 F1 (4) %1 9(n,3) <g(n,3) +8 ©

RIE (1)~ (5) * 13 g(n,3) <§(n,3) +8 ° FH—I7H » IR §(n,3) HESE >

max {2 (1,§(n,3) - 1),h(2,§(n,3) - 1)} > 1

B
~ F F A
h(l,k):?:xng Sglxn:h(l,k)
N - F ,
P BTLLA(Lg(n.3) = 1) > 1 > M (LK) = 3% - 15

hLE) i Fin

= = ,VkeN
h(1,k+1) Friin
B B2 40 3 E 5 e
HA Flao=Fa+F, Fp=0, Fy =1 > HEEREMNE - 550 3SF Sg P U>4 0
I+1

. B P L
B » 2 §(n,3) > 11 5 » wﬂsxwz(é) :

h(1,§(n,3) - 1) Foynz \5

8
FRLA h(La(n,3)~1) » 51 h(1,§(n,3)-9) > (g) C ZENN L SETE 21 -

8
51 h(l,g(n,g)_9)>(§) “351 2 B g(n,3) 2 §(n,3) -8 » F » B FAREHERED
BHEHEE g(n,3)>11 :

R Fie+ . " s
I §(n,3) O£ min = (K"t xn < 1, keN} > 50 (n,3) B5% o 538
WRE - EEGTERS 0(12,3) =11 » WE n> 12K ° g(n,3)>§(n,3) -8 ° O

2.6.2 g(n,3) BLETFAEE-HHE 2
EH 26.

F 21
g(n,3)2mln{k 27:>7, kEN}+1 ’;B\:EF' .Fl+2:F‘l+Fl+17 F():O,F1:1°

16n

.
RIEES

h(2,k+1)—h(2,k+1) = (h(?,k)—2lh(22’k)J)+lh(12’k)J— ;1(12,1<;)

h(2,k)J B B(Q,k))+ (V(Lk)] B B(1,k))
2 2 2 2

h(l,k+1)—ﬁ(1,k+1):({

23



BT ARFIFELIEE 21 BTSRRI RME » FEA h(2,k) 1 h(1,k) B EMER
IR n(2,k) - h(2,k) A h(1,k) - h(1, k) BOEIE B A5 5] h(2,k + 1) - h(2,k + 1) 1
h(1,k+1)~h(1,k+1) HUSEE (RAZE L& > LGSR e 21 %) > %
B HECAE I 24 K > ERBERBIIOITEIT » h(2,k) 1 h(1, k) FIEIEZBARER -
PR UREI T ¢

k g(’l’L,3)—6 g(na3)_5 g(n73)_4 g(na3)_3 g(na3)_2

h2,k) 2 1 2 1 i

h(L, k) 3 3 2 2 1
W k) -h(2k) | —2~3 DU S R ST NP S I S
2 2 2 8 8 16
R 11 5 21 13 3
h(1,k)-h(1,k -3~4 -2~4 -2~ — —— ~ = =2
(LK) (1) 4 4 8 8 2

TR BRI -

B k=g(n,3)-6 K> h(2,k), h(1,k)=3 » LA

h(1,k) - h(1,k) -1
2
h(2,k) = h(2,k) + h(1,k) — h(1,k) +1
2

h(2,k+1)=h(2,k+1) =

h(1,k+1)=h(1,k+1) =

FoAEH 21 MI&EH > -2 < h(2,k) - h(2,k) < 3, -3 < h(1,k) - h(1,k) < 4 » 5%
“2<h(2k+1)-h(2,k+1) < g “2<h(Lk+1)-h(1,k+1) <4 - TIBEREF » &

21 - 1 - 21
k=g(n,3)-1FF> h(2,k)=0 H 6 < h(2,k) - h(2,k) < 1 FTEA h(2,9(n,3)-1) < %
» TARISEEE 19 - -
> ~ tg(n,3)-1
h(2ag(n7 3) - 1) - 99(n,3)-1
Fg(nv3)*1 21 . Fy, 21
)i d 56T <Tgn [i14 g(n,3)2m1n{k 5 o keN}+1 O

B h(2,k) B h(1,k) 168 >0 » FIEHL 26 T TAMEIEIS H B SR S —
%
EH 27.
g(n,3) <n - {%J +3 °
REHA.
B on=3,4 I BEFEAGER o FIHE TR >4 BEE > RBEEATHET
1| 8 B A
(1) & n(2,k)#0,1 > Bl h(3,k+1)-h(3,k)>1
(2) h(2,k)=0,1 BIFEMGLER (h(2,k),h(1,k)) = (1,3),(1,2),(2,0),(1,1) E#F keN
T E B 23 FUERN » 403 k # 9(n,3) -5, g(n,3) -3, g(n,3) -1, g(n,3) *
Bl h(3,k+1)-h(3,k) >1 > IRBEEZL I EE 23 » 51 1(3,2) = EJ h(3,9(n,3)-6) =n-5
CHEAE 2<k<g(n,3) -6 {h(3,k)} REIEIELES -
B » (g(n,S)—G)—an—S—l%J s Bl g(n,3) gn—ng +3 O
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2.6.3 g(n,3) WETHRMEE-—FTE 3
EH 28.

.
H2<k<g(n,3) -2 RBES »

15 12

k k
8+min{k‘(11) SL"J’ keN}Sg(n73)S8+max{k‘(11) 2%7 keN}O
n_|n
1

n-|4% I

2 2
h(LE) < {h(zk—nJﬂh(Lk—nJ
2 2

PETRAN A E B 23 AU%SH -

h(2,k-1)<h(l,k-1)<2h(2,k-1)+2, (1)
FEE h(2,k - 1) F h(2,k - 1) FIEEERE] h(1, k) F1 h(2,k) BIRIR » KN 2 pllu e
AL R

(1) & h(2,k-1) Ba8~ (1, k-1) HEEC I

(2)

(3)

(4)

h(1,k-1)+1 h(1,k-1)+h(2,k-1)

h(2,k) = . h(1,k) = (LR

h(1,k-1)=2n(2,k) -1, h(2,k—-1) =2h(1,k) - 2h(2,k) +1 » FFIH (1) KHEME
(2h(1,k) = 2h(2,k) + 1) + 1 < 2h(2,k) = 1 < 2(2h(1,k) - 2h(2,k) +1) + 1 > BfI

h(1,k)+1 <h(2.k) < 2h(1,k)+2 .
2 SO 3 ’
# Oh(2,k-1) HEFE -~ h(1,k-1) RHEE - I
B2 k) = w Bty = LR D AZE=D =1y e

2
h(1,k—-1) =2h(2,k) -2, h(2,k-1) =2h(1,k) -2h(2,k) +3 » BEFIH (1) REFEE
(2h(1,k) = 2h(2,k) +3) + 1 < 2h(2,k) -2 < 2(2h(1, k) — 2h(2,k) + 3) +2 » EI

h(1,1<:)+3<h(2 k)<2h(1,k)+5 .

2 SO 3 ’

Fh(2,k-1) BIEEL h(1,k-1) AEE - HY

B2, k) = w B(1 k) = LR D AR D Ly e

2
h(1,k—-1) =2h(2,k) +1, h(2,k-1) =2h(1,k) - 2h(2,k) -2 » BEFIA (1) REFHEE
(2h(1,k) = 2h(2,k) —2) + 1 < 2h(2,k) + 1 < 2(2h(1, k) — 2h(2,k) —=2) +1 » EJ
h(1,k) -1 Ch() < 2h(1,k) -2

2 . 3

#oh(2,k-1) BEE -~ h(1,k-1) AEE - A
L R

h(1,k-1) =2h(2,k), h(2,k-1) =2h(1,k) - 2h(2,k) » BFRIH (1) LaEtk
2h(1,k) - 2h(2,k) < 2h(2,k) < 2(2h(1,k) - 2h(2,k)) +2 > B
h(1,k) < h(2.k) < 2h(1,k)+1

2 TS 3
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h(1,k) -1

A (1) ~4) 5

CHR(LE) +h(2k) =t 0 BEEEE I

h(17k+1)+h(2,k+1):t_lh(227k)J

ﬂ%’%F%ﬁﬁlmsz%ﬁ@:

# h(1,k) =t -h(2,k) fEA % <h(2,k) < 2]1(17;”5 » AL A
ggh(&k)s%+5
3
ﬁ%hm¢)%%ﬁﬁﬂ%ﬁg44f%kwgﬁg5’ﬁﬂ
h(2,k)
h(l,k+1)+h(2,k+1):t—l2J
ik 8t-5 5t+4
LD (k4 1)+ h(2 k+1) < 2L
10 6
Ft>5 o FA b1 k+1)+h(2,k+1)eN » A EXBERL
%tsh(l,k+1)+h(2,k+l)s%t
1]
h(1,2)+ h(2,2) =n - [%J h(1, g(n,3) - 6) + h(2, g(n,3) - 6) = 5
F5F
h(1,k) +h(2,k) =t
Hi
%tsh(l,k+1)+h(2,k+l)s%t
Ik
) 11\* 5 11\ 5
8+m1n{k:‘(15) Sm, kEN}Sg(n,S)SS-i—maX{k‘(m) Zm, kEN}

O

LB g(n,3) HUATE 1 ~ HiE 2 FI5¥E 3 » Al DIEBEH 25 Refs sl &/ nY
AEEE  (HEMAHEEA n > 12 BERE - THE 2 fGE 3 1ES > €8 28
Frig iy R WEH 27 HFHU£ - T NFRE S - S8 28 BUEH 26 AR EENE
[ o a0 ¢(100,3) » LDAREH 25 1] 13 < ¢(100,3) <29 » DIEH 26 FIEH 27 715
18 < ¢(100,3) <78 » T LAREH 28 A[1517 < ¢(100,3) <39 °
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3 AREKEEEMEH

3.1

A

RNEEZEDL > g(n,r) BIEDLLL f(n,r) @G Z - HEMBIZEEE] g(n,3) FEN - LN
H—2LIEE C + + IR RBE BRI SEIA0AR » B AT AT HEER T EEN

1.

g(n,3)-2<g(n,3)<g(n,3),VYn+4,n>3

HA g(n,3) = min{k

F;
—kxngl,kEN}
2k

—2<h(3,k)-h(3,k)<0
~1<h(2,k)-h(2,k) <2
~1<h(1,k)-h(1,k) <2
Fyn3)-
G R IE R, AT LU BB 26 045 B RS TE - 1551 % < 23((7’;’33))_;’ < % HAR
MR ERA Ry 2~ 3 1A ©

g(nlvg) Zg(n2a3)7vn1 >ng 2 37 ni,n2 eN ©

T g(n,4) BT » BERRACHRBRFTIR » 551

h(1,k) = zik x [A(1,k 1) +2h(1,k-2) - h(1,k-3)]
7E g(n,5) FITBULT » ERRRIER K HAR TSR > 152 :
ﬁﬂJﬂ:gixﬁKLk—U+3MLk—2)—ﬂKLk—3)—MLk—4ﬂ
R » 7E g(n, ) BOTEDLT - BERFRACHR BHARAFSE » h(1, k) ATEAK

h(1,k) = %XMQ¢-n+w-mmLhoywwﬁmax-@
~(r=Dh(1,k=4)— = (r-(r-1)h(Lk-4)]

M g(n,3) FrisslpyEd s REIIHER - HIB g(n,r) HITBTLEINERE
RASRE

- PEVEERETR f(n,r) BIFIE

- AEREM 3.1 AR BRI o
- HE g(n, 3) HAER LFER

- ERER g(n,r) MME -
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